ES-TYP4P-FPS(H)-P(x), TYP4P, FPS HW ELECTRICAL SCHEMATIC FOR PLUS UNITS WITH DRYER (1) - Rev. 5

L1 cuslgurs !
:: rawee H I S S I LT e “
'} couuwrciny : I_'J&.C.LL . :
' 2 T6-12 : T6-2
i L1 —:hm I {Tb .TB 12 : :
¥ ! ; | T-13 T6-13 ' T6-13 !
e Ot » , ® ,
b ! i 5 ' GEg
. i [ PR ens <} e : :
M ! ' 1
nlssadaoEoaiial i : H
0 ' 1
0 1 '
" 1 1]
0 ' 1
' 1
: | :
: TERMINAL BLOCK SCHEDULE i i
| TERMINAL BLOCK FUNCTION i :
| 1 PLC/O7 i :
! 2 PLC/O0 ' i
' 35 JUMPED +24VDC | i
. 511 JUMPED ovDC ! !
: 12 110 220VAC [L1) : E
: 13 110- 220VAC [L2) ! :
' 16417 JUMPER ovDC ; |
' 14-15 JUMPED +24VDC i !
. L N : v v v i
! O O ' i
" 24 ¥0C ' i
’ PONYER SUPPLY ' E
| 8 | !
t TORQUE SPECIFICATIONS ; |
" ITEM MIN-MA K ! !
! PLC 0.5 Nm Max : E
 POWER SUPPLY 0.67 Nm MAX ! '
' 1
; i (& 530 i
X H i
" 1 1]
b ' 1
: : :
5 ENERGL NOTE: L M T6-6 4 : i
Il’F?C)!ZlU(."lS' SUPPLY VOLTAGE B FACTORYOONRAGUREDANDMAY NOT BE CHANGED POST BUILD. : :
ETANDARD ELECTRICALE 110V ALTERNATE YOLTAGE A WAILABLE IN-220 AND-CEPRODUCTS.SEE : M :
PRODUCT INFO EMATION L4 BEL FOF CONFIR MATION O FS PEC IFKCATIONS. ' E
g WIRING TAELE : 1"‘-’ i
anwc| cowor SERWICE AELD/TERMINAL ! '
14 BLACK 110/220% (11) | FILED - INTERNAL Lapaodl DRYER OPTION !
L14 | wWHmE_ | 220/220v (L) | FILED-IMTERNAL | . AZAYDC e e DD o e
h618| BROWN +24VDC INTERMAL
h 618 BLUE ov INTERMAL
h 6-22| GRAY/RED SIGNAL INTERNAL
622 ANY SIGNAL FIELD



Maya Fidziukiewicz
ES-TYP4P-FPS(H)-P(x), TYP4P, FPS HW ELECTRICAL SCHEMATIC FOR PLUS UNITS WITH DRYER (1) - Rev. 5


ES-TYP4P-FPS(H)-P(x), TYP4P, FPS HW ELECTRICAL SCHEMATIC FOR PLUS UNITS WITH DRYER (2) - Rev. 5

AT T BT T oS S i i 1 S e s oy o e s oo oy e /o P8 o o8 e A 5 ) A . e g o o o g o A g e g o 2

] "o ne

: o waran ANAWDC OUIPUILIO BUY

' | (4318 0HD BY Q1 APIS)

' T T e e e e e e e e e e e b

: o o¥ @ ----------- ! AuaOC QUi oY (ta W) H

< FIHIIINEY | i

] 14 2 ' '

] % w [t (3 | @ ___________ | AuA@C Ul (1AUE PREISURE) !

" 20 |3 H i

- 15 s ! !

: @ PR il Rkl B @ ___________ | ANAOC QU (IANC IACHO2 Pru) '

' g g g g 1

] ¥ At |11-a A

| = Hmmis

' na | 1sa

< 1 3

' % o | 1A @

' "

: 3 168

1 Qo By

- = PR

:.,'H 3 18
PR UL E % RLU2) | @ &= 3 187

1YL DU ‘_'54 o @

: Q2

. ) P L . . s d

. ? 2

' Qs

: @ B —“—% = = —

] 5 10

165

: Slar e f

' e

' .

' QA

. [ P W

. a 12

' N

: = PR CR

: Slo B ng (D]

. oe-l M/B\'R Lo

: e e —— e ——

' e - SEEWCIE!

B & | 13

' SEE NDIEZ i

T — | |_% N cou U’D | *

-1

oz

[LF7%

cov e

AuiO By rAN *SEE NOTE 1

P s A =
Lo R £
(BYPANY DAY COUIACI A Lt0W) _| }_1

I '
! 1

, 1

! '

uwcan i i
Ve :r | Y] 1

(COWWOY DAY CONIAC] ALt u) H .
' 1

! 1

. 1

1 1

H 1

€O W wO Y AL
Lo PRECaNIATIa T

(31,7 TN T = e e e

(1) IFALARM 5 ACTIVE 11-12'WILL BE CLOSED AND 11-14 WILL BEO PEN
(2) FERRITECORE NEEDSTO BEINSTALLED WITHIN 2' O FTERMINALAND WRAPPED A MIN.OF 2}



Maya Fidziukiewicz
ES-TYP4P-FPS(H)-P(x), TYP4P, FPS HW ELECTRICAL SCHEMATIC FOR PLUS UNITS WITH DRYER (2) - Rev. 5


ES-TYP4P- FPS(H) P(x) TYP4P FPS HW ELECTRICAL SCHEMATIC FOR PLUS UNITS WITH DRYER (3) - Rev. 5

CUSICWER CONNECTIONS |

'
FACIORY CONNEC IIDE :

""""" NoC T ”.’l?D e R B N T o T e T o e S R s A s T s e s o DY D=2 DG
10 des .
Jum ger Wirg $ :

TE-16 [T6-14 '
R e e e T 1 :
: DEY POINIMONICR OFPIICH : O . - O :
| ' 1704 004 :
i‘s 1s o= [ 420ma | <] - g g -0 :
1 1 '
! TE-14 ! _— P H
L ----..’. _______________________________________________________ i O 8 O '
() oy & )] E

- = ""O :

all el i s e e . ©- 4 < | '
E FLO VY METER O PTIO H : O.— O g -0 E
1 1 .
e 5 0 | O & -O ;
! B-15 DC- b | - z ‘
T . Seisahinie st o i O e H C} = O O i
L R e e - o O '
o : [

o— E i

Oun— = O :

O- a 1404004 z O TB.M‘.‘ E

H_:Hﬂ > TB-14 L |

Cy— 50O ’:

ol |

404004 SO TB-'Ié* i

i EO TB-]4.E

O '

= i

S

o< e 3 P TO PIC :

| % EXP PORT '
.................................................................................................................................... i



Maya Fidziukiewicz
ES-TYP4P-FPS(H)-P(x), TYP4P, FPS HW ELECTRICAL SCHEMATIC FOR PLUS UNITS WITH DRYER (3) - Rev. 5


ES-TYP4P-FPS(H)-P(x), TYP4P, FPS HW ELECTRICAL SCHEMATIC FOR PLUS UNITS WITH DRYER (4) - Rev 5

o Il e 0y SRR A N L SRR AL L O B AR e R B LR B AL L L
s PIC PLC
el N e {HPUT o ANALOG O UTPUTS TO BNE
i i |ING T4 LLED BY OTHEFS|
REMOTE STO P SWITCH 11 AT B-5 i B R A e e T T T W Y R
- T 10 oy ANALOG OUTOY ICOM| i
IrETaWeD BvOTHERS| 0 [ | "SEEWCIEY ) !
R e T T gty JPSETTINGS 1
" = :oulmmmmmonnu'i . !
| L. f H % 1-8 [2-B (g0 £ N&LOG O UT T4 NE PRESSURE| 1
ol "
afc FR!SSUR!MMH::&B'L e ! == T :
N - = '
' Pl |
VLTE4 1 % o |38 | 108 Jag 1 ANALOG OUT TNk TRACE 2 PRI :
DR VER PRESSURE SwiTCH! | 4 ! swiliscgl | SRR e T A
Wt I 12
T -
>4 | 12-8
: S
! 7 64 | 24 S ———— 111
1
: @ w |78 s :‘v:ﬂ-'u‘uossmzdnosnz'u
1
1
' ]
L 1
: ) i B, "SEENQIEZ 16-9
H 19]4n2| — H . 4
[ S A ey IS Y ol b SLpd s IO U ok bl T ] | P
:
5 o1
' Elﬁl‘ﬂl e
1
: o e O e e RSO S o s Y
- [ MAK oI IENOROMTION | @
: ! : U S
1 ]
OXWGEN SENSO R | [
' : = 1 o
! o o ——— ey e | e ="
: i
' 5
\ 10 BOHM T6-3
: = —
Ll
L
1
' (=23
; Sl
:
' 03
' 11 -
H
' 3
' s
1 b
:
' GEB-1
1
o
Ll
Z — ov L=~
g —&
' B-3 = 1
: e A com 1.5
1 "'l’
Ll
L
1

.........................................................................................................................................................................

GENER4LNOTES:
|1]SEE MANUSLFOR RIFTHER INFORM&TION
2| IFALGRM B ACTIVE 11-12 WILL BE OPENAND 11- 13 WILLBE CLOSED

DT =zoNTT

TE-5 &}
'.E MP-COoIL
| [ROWER LCGS DRY CONTACT 4 L4R M|

*5EE NOTE 2

..................

FOWER LOL Aanu
oAy CONIATIY

__________________



Maya Fidziukiewicz
ES-TYP4P-FPS(H)-P(x), TYP4P, FPS HW ELECTRICAL SCHEMATIC FOR PLUS UNITS WITH DRYER (4) - Rev. 5


TYP4P-07H-Ax-FPS-A, TYP4P, HWU ELECTRICAL ASSEMBLY WITH 0.375 CCV, EC, FPS (1) - Rev. 5

A<—

100373 @ ( &

N\
N

€D

COMMON ALARM

BYPASS
PLACE LABELS

HERE AS SHOWN

AN

TP o
i

o esssesenmes:

\ ®

e O

@

he

al_[E=
5.‘002163 G ®

25 = ———

ITEM #| NUMBER DESCRIPTION Qry.
1 100145 CIRCUIT BREAKER, 15A, DPDT, W COLLAR 1
2 100337 |WAGO RELAY, 24 VDC 2
3 100373 SD CARD 1
4 100379 |4 POST MINI TERMINAL BLOCK 1
5 100381 DIN MOUNT TERMINAL BLOCK END COVER 2
6 100388 MINI TERMINAL BLOCK COVER 1
7 100392  |TERMINAL BLOCK, 4 POS 26-12AWG 13
8 100397 GROUND BLOCK, DIN RAIL MOUNT 4
9 100446 FERRITE CORE, UNITRONICS POWER WIRES 1
10 101528 |0.375 NPT COMPACT HIGH FLOW MUFFLER, STEEL 1
11 101905 0.125 NPT HEX PLUG, BRASS 3
12 102051 0.375 NPT X 0.375 OD PTC ELBOW 3
13 102075 0.125 NPT X 0.250 OD PTC SWIVEL ELBOW 4
14 102080 |0.375 OD PTC TEE, LEGRIS 2
15 102115 0.125 NPT X 0.375 OD PTC SWIVEL ELBOW 2
16 102608  |#10 SAE FLAT WASHER, ZINC 2
17 102682 8-32 LOCK NUT 2
18 102685 6-32 NYLOCK NUT 6
19 102691 4-40 HEX NUT 2
20 102692 10-32 NYLOCK NUT 4
21 102791 6-32 X 01.250 PPHMS 6
22 102792  |4-40 X 0.500 PPHMS 2
23 102804 10-32 X 0.375 PPHMS, ZINC 3
24 102811 10-32 X 02.000 PPHMS 2
25 103257  |0.125" NPT 3-WAY SOLENOID VALVE, 24 VDC 3
26 103265  |0.375" NPT CENTER CLOSED SOLENOID VALVE, 24 VDC 1
27 104080  |TYP1P,4P FPS AND CP PLUS ELECTRICAL PANEL, RD 1
28 105527  |SERIAL NUMBER LABEL 1
29 105943 UL OPEN INDUSTRIAL CONTROL PANEL LABEL 1
30 111249 PWR SUPPLY, 100-240, 24V, 100W 1
31 100224 PROGRAMMABLE LOGIC CONTROLER 1
32 999799 DIN RAIL, PER INCH 18



Maya Fidziukiewicz
TYP4P-07H-Ax-FPS-A, TYP4P, HWU ELECTRICAL ASSEMBLY WITH 0.375 CCV, EC, FPS (1) - Rev. 5


TYP4P-07H-Ax-FPS-A, TYP4P, HWU ELECTRICAL ASSEMBLY WITH 0.375 CCV, EC, FPS (2) - Rev. 5

Q [\} V
OXAN/ 2L,
RN oy B
et/

<
7
7 S
\ ' S
5 .

3

Sya
3 Y/

DETAILZ
SCALE2:3

SECTION A-A



Maya Fidziukiewicz
TYP4P-07H-Ax-FPS-A, TYP4P, HWU ELECTRICAL ASSEMBLY WITH 0.375 CCV, EC, FPS (2) - Rev. 5


